3.8 1) (a)

—_

Im —=lim——=1limz =0
T——00 I z—0 1 z—0
<0 — x<0
T
1 1
lm —=lim-—=—=limz=0
r—+400 I z—0 1 z—0
x>0 — x>0
T
-9 2
lim —22% +2+1=1lm-2(1)2+141=1lim -2 _
T——00 z—0 z z z—0 T
x<0 x<0
—2
— = —0
0;
) 2
lim —22% +2+1=1lim—2(3)2+1+1=lm -2 _
r—~400 z—0 z z z—0 T
x>0 x>0
—2
—_— = —0
0;
-1 2 3
lim —2%422—2+1 = lim —()3+(2)?2—1+1 = lim tro vt
T——00 z—0 x x x z—0 x3
<0 z<0
-1 N
e o0
0_
. 3.2 . 1\3, /1y2 1 . —ltr—a?+ad
lim —z°4z°—z4+1 = lim — (=)’ +(=)*——+1 = lim 5
z—+00 z—0 z z z z—0 €T
x>0 x>0
—1
— = —0
0,
1— 22
22 —1 . (2)P-1 , 72 o 1—2a?
= lim 1 = lim D) = lim
T——00 3;r2 —4 z—=0 3 <_>2 — 4 =0 3 —4q =0 3 — 4 2
x<0 xT x<0 x<0
2
_1
3
1 — a2
22 —1 . (2)P-1 , 72 o 1—a?
= lim 1 = lim D) = lim
T—+00 3;r2 — 4 z—=0 3 <_>2 — 4 =0 3 —4q =0 3 — 4 2
x>0 xT x>0 x>0
2
_1
3
1 —2?
) r?—1 . (%)2_1 . x?
lim = lim #=5—— = lim Tz =
T
1-— 1 1-— 1
lim( x)(+x) x = lim x:—:—oo
z—0 x2 14+,x z—0 T O_
x<0 x<0

Analyse : limites

Corrigé 3.8



2_1 12_1
) i o =l = g =
et 3zl a3 o4l
T
lim<1_$)<1+x)- x zliml_x:i:Jroo
i z? l+e =0z Oy
6) (a) mﬂx—vﬂ+2x+7:h%§—¢gy+25+7:
T——00 z—

<0

o1 14+22+ 722
Im— — ¢/ —m8M8M8M8M8M8 —
w—>0x

.TQ
<0

= lim — —
z—0
<0

1 \/1+2x+7x2_
N
—~—

|z

o1 V1424722 1+ V14224722 2
lim — — = lim = — =—00
z—0 —x z—0 X 0_
<0 <0
(b) lim :c—\/x2—|—2x+7:liml—\/(1)2—1—2-1—1—7:
T—+00 z—0 T z z

>0

.1 1+2x+ 722
lim— — ¢/ —mM8M8M8 ——
w—>0x

.TQ
>0

1 V14224 Ta2?
lim — —

x—0 €x
z>0

x—0
>0

0o . ., .
= 0 : indéterminé

1—V1+2x+ 722

= lim — —
z—0
>0

= lim

1 \/1+2x+7x2_
N

||
1—V1+2x+ 722

X

(1— /14224722 (1+V1+2z+T722)

lim = lim
g x v20 r(14+vV1+224722)
z (—2—Tx)
O 1-(14+22+72%) 2 Tx )
lim = lim =—=-1
20 (1+V1I4+20+72%) =201+ V1+20+722 2

Analyse :

limites

Corrigé 3.8



